N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[%] n n
() o [}
] = S
£ k=l =
g g &
o
2 2 2
= 7] =
8 5 8
g g 10 g
= o] =
o
R P B
: I
—IT— mod_mode|sdeep_truthfinal
o — —mog—moge|sgee —sometpnn b
b : T : , , T 5 E
4 a4 1 r r I a4 [ K K
b b : 1_ ----2 -y b u N!NP
o5kt T LT 15 SO A =
5 5 5 5 =+ I . [ ! § A i i
0.95 ! 1 ! 0.9 L L 1 0.95, Al 1 i i
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
%) (%] %)
o Q o
= [3} =
° = °
2 & 8
o o
= g =
7] = 7]
g g £ 10
g £ 3
o @

Ratio
Ratio

30 -20 -10 0 10 20 30 0 =15 -10 -5 0 10 15 20 5 10 15 20
TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


